WingtoM

Warm Up: Use the given figure to place each statement under the correct category.

T \ ACD and BCE are straight lines. 4B = LE.
C £BAC is a right angle. £CDE is an obtuse angle.
A D
\l CD = DE E is to the right of A.
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¢BCE is a straight angle. BC is longer than CE.
C, D, & E are noncollinear. _ - Cis between B and E.
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asic Geometry Terms
1) L is the midpoint of QT
L M o. midpoint ctS o S“J""'fi' .
AT S inhef (2 pas). QuELT

2) 2)msR =28°

mLoSurement Of L& 8%4«0.1.5 28&°

3) HG = PJ

w - L2 | -

B & P J
4) <TAP is bisected by AK T
72
A v >

=
5) mz£JAB + msHIT = 90"

Complementang £S5, (Bnagles ot add
+o 90



